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& 6,000
= 6,000
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02 QIZ2IA AAIE E X 12,000 12,000 0
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o= 1,400
= 1,400
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= 1,400
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o= 1,400
= 1,400
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301 LAz 17,000 22,000 25,000
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307 giztol A 1,101,527 162,584 938,943
10 MM SAANEEHESIHEX 1,101,527 162,584 938,943
1) ZOHQl MEIAALE 299
1,101,527,000& =11 A 1,101,527
401 AlEHIZL 2 0HY| 20,000 0 20,000
01 Al&EH| 20,000 0 20,000
NEHLIMEAL JsEL X
20,000,000 =10 A 20,000
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NENCIXE2X L A EHQAR/AG & A Lot
70,000 *9H *4 3] 2,520
03 A2 HH| 10,500 0 10,500
NolAEMNMES fAst WSH 3,000,000& 3,000
AR 2 & A-HXE2 O 29
750,000& x10H 7,500
301 LBt A= 1,000 0 1,000
09 HAIAHI EAZ 1,000 0 1,000
)R Of IRl 2 & ol & & X AHH|
100,000& x5H *23| 1,000
ool KHE XS 146,063 0 146,063
301 et A= 10,063 0 10,063




A4 ==X
[e]

BE: NS =X B
chelr Mool SXAMEIA & MEord X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 MI2EZE+06l= 5,000 0 5,000
NAISHA MEXRE(SH,AZR2YH S)
500,000& »10H 5,000
1M1IIEBEAS 5,063 0 5,063
NAIGHA AR AlE 0IEEX R (YAHS)
506,300& x10H 5,063
307 glz2tol & 136,000 0 136,000
10 ALl SXAIEEE2EH EX 136,000 0 136,000
DAt =SSO0 XHE X & M E XI&
136,000, 000& 136,000
Ots=X MblA D18t &= 300,000 300,000 0
= 300,000
FANESOtES S Atcll2tel 300,000 300,000 0
= 300,000
101 @124l 78,660 76,410 2,250
= 78,660
04 JIZHHZ2Z2XNHEE S 78,660 76,410 2,250
NOISSSAE@ 22l
1,700,000+«3% =122 61,200
= 61,200
NOISSSMEIRP 4HEE  170,000+3H « 128 6,120
= 6,120
NS SEHAEEIRY EEZ  145,000+3H « 128 5,220
= 5,220
NOSSEHAEZLE Al2t2
8,500%3H +20A| 2t 128 6,120
= 6,120
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=2 700
NSNS+
70,000% 10 »43] 2,800
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= 7,000
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2AM: S
BE: HANE =X B
2 HASSE ots XN (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
R4S B200I= ZIEREEE
1,000, 000& 1,000
= 500
s 500
OtsAlE JISEZAY 47,000 32,000 15,000
401 Al& I 28I 47,000 32,000 15,000
01 A& HI 47,000 32,000 15,000
NANHE SR Js22AY 32,000, 000& 32,000
NXSEotSHEH JIsE2 AL 15,000, 000& 15,000
Ots=XI WAt XI& 67,200 67,200 0
= 33,600
< 13,440
s 20,160
101 1A bl 65,700 65,700 0
= 32,850
< 13,140
[ia 19,710
M4 II2HZ22NSES 65,700 65,700 0
1)er2i 65,700
2)0tS =X WAL 2124 4| 65,700,000& 65,700
= 32,850
< 13,140
i 19,710
202 oddl 1,500 1,500 0
= 750
< 300
s 450
01 = LH o4 1l 1,500 1,500 0
10 bl 1,500
2)0IsSE X AF 20 HI 1,500,000& 1,500
= 750
< 300
[ia 450
OtS=EXAE 22H X2 1,053,878 1,035,850 18,028
< 193,920
[ia 859,958
Ots=XAIE 238 X 1,029,610 1,029,610 0
< 193,920
e 835,690
307 21201 A 1,029,610 1,029,610 0
< 193,920
i 835,690
10 ALSISXAIEEE2EHEX 1,029,610 0 1,029,610
NotssXAIE 24 K& (2d)
931,420,000& 931,420
< 139,713




2AMd: s
HE: HUNS =X B
el Ots=XAE 298 XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 797,707
NEIA0S MHYBEI NS (2)
3,000,000& x10H 30,000
< 15,000
2 15,000
DAESAR SE+2 X 25,560,00084 25,560
< 17,892
s 7,668
NAIE0otS tietdst2 X 1,000,0008 +5Y 5,000
< 2,500
s 2,500
NAIEots Mass X 14,760,000& 14,760
< 7,380
s 7,380
NAIE0tE MEE X2 16,800, 000& 16,800
< 8,400
s 8,400
NAIdotEs w228 X 200,000& 10 2,000
< 1,000
s 1,000
NAIZ0tE 80 &d K& 100,000& »18H 1,800
< 900
fia 900
NAE0tsS 0N 28l XA 2,270,000& 2,270
< 1,135
[ia 1,135
AMZIEXAIE SA2R2A eAd XA 7,500 6,240 1,260
301 et a = 7,500 6,240 1,260
0B M ERRIABHS 7,500 6,240 1,260
DASISXIAIS ASI=Z222 A
6,000 *5H %2503 7,500
OIsE3dEI2 29 16,768 0 16,768
308 XX EHH SOl A 16,768 0 16,768
07 IXNHMARE = 16,768 0 16,768
NOtSES d2J1& 2 16,768,000 104 & 16,768
HYR2IZH (BS=SX D) 15,400 13,800 1,600
JlE3l 15,400 13,800 1,600
JlE2&l 15,400 13,800 1,600
201 Let24E] 4,800 5,100 A 300
01 At 2t 2l 4,800 5,100 A 300
1) B2l 4,800
2)FNEY AR 2] 300,000& 16X 4,800
202 Oddl 6,400 4,500 1,900
01 U401l 6,400 4,500 1,900
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